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RDENTNDEZZRD LK.

a) log,32 = b) log,s5 =
c) 1og2% = d) log, 16 =
e) logs5 = f) log,2 =
g) log; % = h) logg v2 =

RDID x ZRDE.
a) logyx =3 b) log,x = —%

c) logzx =2 d) logy,7x =3

TEDEECKD, log, M =7, log, N =5 THDEEF M =a’, N =a* B'RODIIDTEICHES
FO. FCCT, M =a", N =a° &EBE, BHANZFBLT, ROBLOWHDOMEZTHPE XK.

M
a) log,(M x N) =log, M + log, N b) loga(ﬁ) = log, M —log, N

c) log, M" =nlog, M
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p=log,2, qg=1log,3ETDEE, RDE% p, q THRE.
a) log,8 = b) log, 18 =

c) log, 12 = d) log, 1.5 =
RDEL DI EFEE L.

3 3
a) log, il log, 5=

b) %10g3 5 —logs ﬁ =

3
c) log,(3 + v/5) +log,(3—5) =

d) 310g5 15— 10g5 135 =

(6] mOBLDINEBBICE L.

a) % loglo 125 + loglo % - loglo 0.3 =

A B C
b) log, B + log,, rel + log, 1 =

TEBDEECLD, alosab = p HRDIID. TOXNDELD ¢ ARET DNHERDIEICKD, log, b

% log.a & log, b TRE. [BONICNEREDERATNEFEND. ]

log, 3 =m DEE, log, 6, logz2 %= m THRE.
a) log, 6 = b) log;2 =

[R(CH<]




O] BEOZBRATAEBVTRONEBHEICE L.

a) log, b -logya =

b) log, b -logy ¢ -log,a =

BI#l y = log, x [CDVTRDRICHTIFFED x DEZINHTHRE. 12/2L, 2°° =1414 T D,

0.5

1.5

2.5

AIRZRMALT, 88RE% y =log, x DI ST ZCTTDRD TE(THIT.

B8 @B B (kuwataltamacc.chuo-u.ac. jp)




4DDEH y =3%, y =37, y=logzx, y=—logsx DI ST%HEI7.

232 (FAFDBED . 1=712U, log;y2 = 0.3010 & 2.

FHRDY, HDRDAISR%Z 1 BiEBITDLEIC, TDHRED % ZROEWND. COHSAR%AKLEL
EERCEDZEBRT DE, HEDTEED % HUFCgEHondh. 12120 logy 3 = 04771 £ D.
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